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2. 100709 tFabA] w2 —x—1, x2—=x=2, -+, x2—x—100 =l A A7t
ool AaAe] o ASHARHE AL BE B el7}

® 574 @ 774 @97H @ 117 ® 1371

x> —-x-n=(x+a)(x-b) (a, b = ZA) 2t oIH
b=a+1,ab=n(1<n<100)

a 12345 6 7 8 9

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90
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@ (x=y)?-wy(y-x) = (x=y)(x—y+xy)

@ 3a% -27b%* = 3(a + 3b)(a - 3b)

@64a3 —125 = (4a + 5)(16a% - 20a + 25)

@D (2-x) (2—x+1)=6=(2-x+3)(x+1)(x-2)

® 2x2-5x+3=(x—1)(2x-3)

64a’ — 125
= (4a)’ - (5)°
= (4a - 5) (164> + 20a + 25)
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O O~@% eSS o Al E9 AL B F A7

@ x*(a-b)-y*(b-a) = (a=b)(x+y)(x-y)
© 9x% + 3xy -2y = (3x—2y)(3x +y)
© x3-125=(x-5)(x* = 5x + 25)

@ 2x? —xy-y —dx+y+2=(2x-y+2)(x-y+1)

@ o7H @ 174 ® 274 @ 374 (@)47ﬂ

B

@ x*(a~b) - y*(b-a) = x*(a~b)+y*(a~b) = (a~b)(¥*+y?)
© 9x% + 3xy — 2y? = (3x + 2y)(3x —y)
© x* - 125 = (x - 5)(x? + 5x + 25)
@22 —xy—y?—4dx+y+2
=2~ (4+y)x-(?-y-2)
=2 - (4+y)x-(-2)(+1)
:{2x+(y—2)}{x—(y—|—1)}
=@2x+y-2)(x-y-1)




5. AP v - 10632 + 9yt 9] Q14:7} obd A9

® x-3y (@)x—Zy ® x-y
@ x+y ® x4+ 3y

)C4 _ 10x2y2 + 9y4 — ()C2 _ 9})2) (X2 _y2)
= (x=3y) (x+3y) (x~y) (x +)




6. T3 (x+y)?-83%9 Al ALY

D x? —2xy — 4y? @ x? - 2xy + 4y? @ x? + 2xy + 4y?

@ x* —dxy—Ty* (@)x2 + dxy + Ty

(FA)= (x+y)* - (2y)°

= 29H(x +)? + (x + )2y + (29)%)
x% + 2xy + y? + 2xy + 2y + 4y?)
x% + 4xy + 7?)
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7.

16a* — 250ab® 2] €157} opd 2429

@ a @ 2a-5b
® 2a(2a - 5b) @ 4a? + 10ab + 25b2
©)2a(2a + 5b)

(£4]) = 2a(8a® — 125b3)
= 2a{(2a)3 - (5b)?}
= 2a(2a — 5b)(4a® + 10ab + 25b%)




8. 1999719 t}aHAl x2 —2x -1, x2—2x 2, o, x2—2x—1999 Zof A
_]

>

X
AG=7t A4l AxpAlo] Fo 2 Q1B 54% AL BT IRI7R

@usH owuA 5K @64 G A

x2=2x-n = (x+a)(x=b) (a, b= ZAA5) 2t otH (1 < n < 1999
< 7pedsp)

ab=n, a=b-2
n=1-3,2-4,3-5, ---, 43-45(=1935) 9] 43 7}




(a+b)(b+c)(c+a)+abcg A5l 5tH?

® (a+ b)(ab + bc + ca) @ (b+ c)(ab + bc + ca)
® (a+b)a+b+c) @(a—l—b—l—c)(ab—l—bc—i—ca)

® (b+c)a+b+c)

~&B

a+b+c=ke oA

(FA)= (k - a)(k - b)(k — c) + abc

=k3—(a+ b+ c)k* + (ab + bc + ca)k — abc + abe
=k{k* = (a+ b+ c)k+ (ab+bc + ca)}
=(a+b+c)(ab+bc+ca) (fa+b+c=k)




